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(For the candidates admitted from 2012-2013 onwards)
B.Com. DEGREE EXAMINATION, NOVEMBER 2017.
i ; Sixth Semester ‘
MANAGEMENT ACCOUNTING
Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer ALL questions.

1. ~ What is management accounting?
Cerareniod seaTéSie) remnme) 6Teme?
- 2. State any two tools and techniques of
management accounting.
Cuanaramns sarsdudan smalsar LHmL WsHaer
QY rewTiq e H(H.
3.  What is meant by ratio analysis?

eldls0 uELuMle] eramLger GLmmar u_mg'?

4.  List out the solvency ratios.

sLen Sirey clfsmsmarn L g wel(Hs.



10.,

11.

What is fund flow siatement?

P UL oifléens erammred eremen?

What do you mean by cash flow statement?

Crmés @U L sifléems unh BelT oidleug wrg?

‘Define the term budget.

aurey deewey L Ib arayld LSHMS QUGN TILIMI&S.
What is a cash budget?
Qynés eure] Geee sHL L b remmmeD eremen?

What is break even point?

Qeru BLL O yerefl erammed 6Tettan?

Sales ¥ 50,000; Variable cost ¥ 20,000; Fixed cost

¥ 6,000; Find out the P/V ratio.

allpuear T 50,000; wrmu@b Gsaay T 20,000; Hae

Geevayser T 6,000; Georu Sarey s sy

PART B — (56 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(@) What are the functions of management

accounting?
Cuevreanrenios sentédlwieder LianflEer wreneu?

Or
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12.

(b) Explain the nature and scope of
management accounting.
Gmé)rrs&orsmmé; SETHE L Heend  LOHMILD
cueni&d) eumiiliysenar adleurfl.
(a) Explain the different classification of ratios.
A gmsaflen GeusuCoun auansseer elleTé G 5.
Or
() From the following iﬁformation, calculate
liquidity ratios for ‘A’ and ‘B’ companies.
Particulars Company A Company B -
T T
Cash 18,000 14,000
Debtors 1,42,000 . 3,20,000
Closing stock 1,80,000 5,40,000
Bills payable 27,000 1,00,000
Creditors 50,000 4,00,000
Outstanding expenseé 15,000 12,500
Tax payable 75,000 1,00,000
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ereu(mid ~@5]muré15aﬂaﬂ@{rbgj ‘A wppgw ‘B
Blmiwgdler B elflsib samsdajib.

eNuphiseT Slmywd A Hmwon B
T &

QprssLd 18,000 14,000
sL_arefl&er 1,42,000 3,20,000
Qmé srsdmLiy 1,80,000 5,40,000
degissn@fu wrpmef @ 27,000 1,00,000
sLabCgmT 50,000 4,00,000
Blayeneu Qaeayser 15,000 12,500
aifl Qegusdwg 75,000 1,00,000

13. (a) What are the differences between funds flow
statement and cash flow statement?

Bl$ mLom L APGmas@D, Crrés HLOT L
SAMGanas@LD 2 dter Coumur(s6r wreneu?

Or

(b) Calculate funds from operation from the
following profit and loss account.

Profit and Loss alc

Particulars 7 Particulars 3
To Expenses By Gross profit 18,00,000
paid 12,00,000 By Gain from
To Depreciation 2,80,000 sale of land 2,40,000
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Particulars z Particulars z

To Loss on sale

of machinery 16,000
To Discount on

issue of shares 800
To Goodwill 80,000
To Net profit 4,63,200

20,40,000 20,40,000

&G  Qar®ssuul_(Herer

- samsHOmps  HE Ll eiflemsmw
SEEHSL_GLD.
@eru BLLS &/ @
aSleugmiger Ed eSleumhIseT z
QeveilemisEnésTs @eoruibd 18,00,000
Qegussuig) 12,00,000 flev eflhenLic
EEI 2,80,000 Bsrer Qe 2,40,000
Qupdy elpueen
B mes Beigl b 16,000
Ui Geuaflui G
SET(ErHLIg. 800
BHGEUWIT 80,000
Hl&y @eomuid 4,63,200
: 20,40,000 20,40,000
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14. (a) Explain the different types of budgets.

augey Gsewey L sdlem cuamssmar 6fleTsEs.

Or

(b) From the following particulars prepare the

raw materials purchase budget for January
2015.

Materials (in units)
X Y Z
Estimated stock on Jan. 01 15,000 10,000 5,000
Estimated stock on Jan. 31 21,000 12,000 24,000
Estim_éted consumption

1,20,000 44,000 1,32,000
Standard price per unit (paise) 0.25 0.05 0.15

Ylemrau(mid efleurhisaners Qamanm(h epeliQummelen

MG eurey Gewe S L b swrfés.
' epUIQUMHETEET (@7 S DHE)
X Y Z
gareutl 1-& Srorefissuul L sré@ 15,000 10,000 5,000
geaneufl 31-6 Smonaflssiiu L srs@ 21,000 12,000 24,000
Siroraflssiud L pistey ~1,20,000 44,000 1,32,000
20 wdar SO o (wust) - 0.25  0.05  0.15
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@ii)
(iii)

15. (a) Findout:
6

P/V ratio

Break even point

Sales to realise profit of ¥ 1,60,000.
Variable cost per unit :

Material Z 10,

Labour % 7

Variable overheads 100% of labour
Fixed expenses ¥ 64,000

Sales per unit ¥ 30.

Yemeu(meuateupenn senrds (Hs.

@
(i1)

- (1)

@emu jerey 6Sl&lHD

@eoru {_51'_1_ gwerefl

¥ 1,60,000b @eruib miiL CoaneuliLi(id
eflpuenar Qg mens.

LIYUHD CFW6SET QT WS :
epaLIQUITmET T10

gaedl T 7

wrpu@b Cuwh@eanaey 100% of &nel

Hlenew Qeeveyser T 64,000

ellpuener g jev@ T 30.

Or
Ll S.No. 1014



(b)

The sales turnover and profit during two
years were as follows :

Year - Sales Profit
1996 1,560,000 20,000
1997 1,70,000\ 25,000
You are required to calculate :
@  P/V ratio
(i) Break even point

(iii) Sales required to earn a profit of
¥ 40,000.

20 Hpesagddr Qe ® <par@saflar oflpLieen
HHID @eoru ellurd SGip der@éslulLg.
e - edhuener | @erub

1996 1,50,000 20,000

1997 1,70,000 25,000
Ylemeuheuaaupenn semrédl (.
D) Qeru erey clldlsLb

(i) @eru plL soeref

(i) eflpuewer T 40,000 w5 @MHéE0LCUTE)
FHu®BL Qeomud HueDns sarsdHs.
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PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
16. Differentiate between management accounting
and financial accounting.
Gevmerening TS LIGIHGLD, HlSulwicd
Mzro‘réaaﬂu_@Jés@Lb 2 arer GoumiLim(H&6T wireneu?
17. The following balance sheet information, calculate
(a) Current ratio
(b) Liquid ratio
() Solvency ratio
(d) Proprietary ratio

(e) Gearing ratio.

Balance sheet

Liabilities ¥ Assets F
Equity shares 80,000 Intangible assets 48,000
Reserves 40,000 Fixed assets 1,12,000
Mortgage 64,000 Investments 8,000
Bank overdraft 8,000 Stock 24,000
Creditors X 32,000 Debtors 24,000
Provision for tax 16,000 Bank balance 24,000

2,40,000 2,40,000
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Speramid  Qouy  Hoeseiiiysadobs by
eldlgd, B eAdsbd, sLar  Siey s,
o Mlenowrerflenr  elflgd wHMD Quss edlssams

SWTEE ().
Bouy flawseiliy
QumpiLseT z Qensgsae z
LG pse 80,000 Ueens Qenss) 48,000
iy Hd 40,000 Hypsy Censg 1,12,000
Qenemriid 64,000 epegearbd 8,000
auidl Guodeuany Lipm 8,000 &psdlmuy 24,000
sLaiBCsT . 32,000 sLameflger 24,000

auflls@EpsanTear e816E 16,000  cumdlmuy Qurssnd 24,000

2,40,000 _ 2,40,000

18. From the Balance sheet of X Ltd, make out :
(a) a statement of changes in working capital.

(b) a funds flow statement.

Balance sheets

Liabilities 1992 1993 Assets 1992 1993
T = T X
Equity share Goodwill 1,15,000 90,000
capital 3,00,000 4,00,000 Building 2,00,000 1,70,000
8% redeemable Plant 80,000 2,00,000
pref. share 1,50,000 1,00,000 Debtors 1,60,000 2,00,000
10 S.No. 1014

Liabilities 1992 1993 Assets 1992 1993

% T T %

General reserve 40,000 70,000 Stock 77,000 1,09,000
P &Lal © 30,000 48,000 Bills receivable 20,000 30,000
Proposed dividend 42,000 50,000 Cash 15,000 10,000
Creditors 55,000 83,000 Bank 10,000 8,000
Bills payable 20,000 16,000
Taxation 40,000 50,000

6,77,000 8,17,000 6,77,000 8,17,000

Additional information :

(1) Depreciation of ¥ 10,000 and ¥ 20,000 have
been charged on plant and building
respectively in 1993.

(i) An interim dividend of T 20,000 is paid in
1993.

(ii1)) Income tax of ¥ 35,000 paid in 1993.
Spsrapd X Anwsder @oiyflaos @hluddnis
(=1) peL(pe@D (Ppgedlad gHUGED IHHL HHIL -
(<) B L absms swri Gews.

fouufleows GHluy
Qumpuiyser 1992 1993 Qanggissar 1992 1993
¥ £ 3 & T
gy BOOLIWIT 1,15,000 90,000
UG (PS6 3,00,000 4,00,000 s_iq.Ltb 2,00,000 1,70,000
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19. Prepare a “flexible budget”’ for overheads on the
@umgiser 1992 1993 Gemggisser 1992 1993 basis of the following data. Ascertain the overhead
z z z z rates at 70%, 80% and 90% capacity.
8% SUansé Falqul : Qumfleuews 80,000 2,00,000 Particulars 80%
: capacity
wearaiflow ukigsdar  1,50,0001,00,000 sLeameflsdr 1,60,000 2,00,000 .
~ Variable overheads :
Q o 0 70,000 &y&dlmL 77,000 1,09,000 2 :
e et i 1 Indirect materials 8,500
@eomu pLL &/ 30,000 48,000 QuysHE 1 Tndivaat laksae 23,500
i WL el d
@J%@NM@“U 42,000 50,000 wrpp#f-G 20,000 30,000 Semi-variable overheads :
i e 55,000 83,000 Qgrést> 15,000 10,000 Electricity (40% fixed) 39,000
Qegugsne i : e 10,000 8,000 Repairs and maintenance
onppEEL 20,000 16,000 _ (80% fixed) 4,000
: £ . Fixed overheads :
uUfGER&EHTAT R5IHE 40,000 50,000
Salaries 1,50,000
6,77,000 8,17,000 6,77,000 8,17,000
Insurance : 5,000
8. (He) 6l GUTaIET : Depreciation 30,000
@) Gswwomend T 10,000; % 20,000 Qurdl euens& @D Qereumd saeudsaflalimbg 70%, 80% wpmwp 90%
C pmid sy S8DED 19936 Siginglés. @mm@frs\)m.&@&snm GpApea - Bgsg LD
swmil&seyib.
(i) QeLsste umg Psmud T 20,000, 1993w G 89%
: . ; Osmérereray
() Cegisdlug.
wrmd CFe &6 :
; s z 000 4
(i) euemwrer  euffl 199?)LD <p,ar(h 35, b s i o e 8.500
Qea)sdlwig).
QSSLg) : LD (PE 860 23,500
13 S.No. 1014
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Qummer ol
O Qarereraray
UG wrmib CunHOemeyser :
arfleadl (40% Blenevwimesg) 39,000

Upgiumisge (80% Hlanewimang) 4,000

Blevewrar GonQeaeysar :

FDLIGTLD 1,50,000
a;ranS@_ 5,000
Cswimend 30,000

20. The following figures of sales and profits for the

periods are available in respect of a concern. ,
Period  Sales Profit

3 &

First 1,00,000 15,000
Second 1,20,000 23,000

Find out :

(a) P/V ratio

(b) Fixed cost

(¢) BEP

(d)  Profit on a sale of ¥ 1,25,000

(e) Sales to earn a profit of ¥ 20,000.
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@Cr Pfpauasdar Qrav® sresHE v .G\S]g’)umm'
LHMID @eorud udMw Meurmger  ECLp
Q&m(H&EsILL (HeTere.

HTVLD elpuener  @emuLd

Fa E3
P56 1,00,000 15,000

@pam_mb  1,20,000 23,000
QaupAe s Spsam_aipa samsdLalb.
(=) Qeru-alhueaman jare] elldlsin
(<) Hlenewimren deae e
(@) e&flew Blaeierefl
() efpuener T 1,25,000 erefled @evmuid
(22) ¥ 20,000 @erub Qun Caeneuwimer ellpHLema.
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